Money Word Problems

Solve these problems. Always show your working out.

1.

My friend gets £1.00 each week for her pocket
money. | get double that amount. How much
pocket money do | get?e
| bought a sweet costing 30p and a magazine
costing £1.30. How much did | spend
altogether?

. At the shops | bought some things which

totalled £1.70. | paid with a £2 coin. How much
change did | gete
Ben bought a chocolate bar which cost 80p.
Bill's chocolate bar cost 50p more. How much
did Ben’'s chocolate cost?e

. James bought 5§ apples, each costing 20p. How

much did he spend altogether?

. 1 bought 6 pencils. They cost 60p altogether.

How much did one pencil coste

. Tom bought a toy car costing £1.20, a lorry

costing 20p and a train costing £1.00. How
much did he spend altogether<s

. Show 5 ways of making £1.50 using different

coins:



